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1 s % 1 HfEitRs 35 32 67
BASEFERRUAT) P ARNEERAFE TN T EFEFAROLBELZBE LT,

2 EES 1 KERFBRAF 35 33 68
3 RN BLE 1 KIRF AT 33 35 68
4 ENCE 7N 1 IR RS 36 33 69
5 REER 1 KIRFBRAF 33 36 69

HUE REHEEDEF (KERFRAY) £ CHEREERAFEIL 7 EFETEORBELSE LT,
6 XE 5 2 Pl 37 33 70
6 78 BE 1 SEHART 34 36 70
8 W 1 KIRF BT 36 35 71
9 ECEES 1 Pl 37 35 72
9 ‘K E 1 SEHARF 37 35 72
9 AR e — BB 1 KIRF AT 34 38 72
12 2R BE 1 FREAY 38 35 73
12 RR EAE 1 KIRFBRAF 37 36 73
12 A = 1 plig. v 37 36 73
15 ST E sk 1 EfEEIERT 39 35 74
15 BB 3 N 37 37 74
15 NG BA 1 KERFBRARF 35 39 74
18 EEELS 1 plis Nl 41 34 75
18 WA fBE 1 HAEREARS 38 37 75
18 Ax B 1 KFRIKF 36 39 75
21 S 1 RELATF 41 35 76
21 g —@ 1 Pl N 39 37 76
21 e 1 HfEItRY 39 37 76
21 FE KA 4 HEART 38 38 76
21 B BE 3 REKRF 38 38 76
21 BIH B 1 KERFBRAF 37 39 76
21 O 1 KBRFBEAF 36 40 76
28 KB FKER 1 HLFBRAF 42 35 77
28 (L 1 KERFBRAF 39 38 77
30 At 2 KERFBRAF 41 37 78
30 &) Hth 3 BRI RT 39 39 78
30 e RE 2 FEARF 38 40 78
30 LB P 1 FREAY 38 40 78
30 Bl k¥ 1 g 37 41 78
35 < 1 AFHATF 41 38 79
35 EE K 2 RELASE 41 38 79
35 T @ 2 TR 40 39 79
35 bR TR 2 KIRFBRATF 37 42 79
39 RS 3 HBKRF 40 40 80
40 ME hE 1 KFRIKF 43 38 81
41 EE —H 3 RFELAT 42 40 82
41 R OBA 3 RHRF 42 40 82
41 EEES 4 KT 42 40 82
41 X RE 3 FHERF 42 40 82
41 Hef gEeN 1 KFRIAFE 39 43 82
46 EESESN 1 B AS 42 41 83
46 RS 3 TBRFAY 40 43 83
48 KB —E 4 KERAILKF 45 39 84
48 B A 1 KIRFBRAT 43 41 84
48 FlAS 51 1 EfEEIERY 43 41 84
48 hy Vv 2 IEEERF 42 42 84
52 HE P 2 FHKRY 46 39 85
52 qi)ll A 3 VAN 42 43 85
52 )l K 3 JuRRE RS 41 44 85
52 %% AR 3 HfFRAY 40 45 85
56 EZNIESIPN 3 BIF AT 40 46 86
57 AT SERER 2 FEBEEKRT 44 43 87
57 BARE 2 KIRAILKF 44 43 87
57 N ThE 2 FHEEERY 44 43 87
57 ALK 3 KIREEKRT 42 45 87
57 Bi5 BEX 3 HBEKRF 41 46 87
62 HAR EKXRER 2 RIEHKFE 44 44 88
62 wE BN 2 KIRKF 41 47 88
64 ECIRGE 2 B FRAY 47 42 89
64 EEREES 2 KIRFHFRT 47 42 89
64 FH BAER 3 KERKF 46 43 89
64 7l B3R 3 HLFRAS 45 44 89
68 H A 1 KERAILARF 45 45 90
68 R 2 RIEL AT 43 47 90




68 I ES 3 BT A 43 47 90
68 HE B 3 HEXTF 43 47 90
72 e 2 FRAY 46 45 91
72 ELEES 2 KERAF 41 50 91
74 BN 3 KERAF 48 44 92
74 Bl AR 3 FHEEEARY 48 44 92
74 P B 1 N 45 47 92
77 a0 & 2 KRAF 48 45 93
77 W OEE 3 KIRKF 48 45 93
77 P & 2 KERAF 47 46 93
77 FH — 3 FHEEERY 46 47 93
81 iR 5 3 N 47 47 94
82 BE =¥ 2 KERAF 51 44 95
82 BE Ex 2 HEAEFHREAT 50 45 95
82 it k— 3 FHEREERY 49 46 95
82 wE 2 HEKF 48 47 95
86 ECELE 2 KRAF 47 49 96
86 i B 2 BT REAT 45 51 96
88 R KA 3 HMEKXY 51 46 97
89 EEREL 3 AR LEKRS 51 47 98
89 KB R 3 HMEAF 49 49 98
89 EIE S 4 NN 46 52 98
92 HO EA 4 FHEEERY 51 48 99
92 WA B 2 FHEEERY 50 49 99
92 FRy R 3 FEBKF 48 51 99
95 AT EBRA 2 TR 53 47 100
95 E8)l #5 2 BfFRAY 51 49 100
95 £E BE 3 SIMEERT 47 53 100
95 Nk 4 KERAF 45 55 100
99 ol —=t 3 KIRAEFRT 54 47 101
99 H)il BA 3 SIMEERT 54 47 101
99 EREES 1 BT AY 51 50 101
102 B XE 3 FEEAT 51 51 102
103 GG 4 FEEERY 60 46 106
103 ki WA 1 BT RS 49 57 106
105 KE P 3 REREFAE 59 48 107
105 B IREE 3 HAEFRAY 55 52 107
105 BE R} 2 VAN 53 54 107
108 WA B 3 HMEKXY 56 52 108
109 AL REER 2 FHEARF 60 51 111
109 £E FR 2 KERAF 55 56 111
109 NI mE 2 FHEREERS 53 58 111
112 2 B= 3 HEAT 60 52 112
113 Bl R 2 HE KT 62 54 116
114 FH OEX 3 HMEKXY 60 57 117
115 Fil IR 2 HEKRFE 64 54 118
116 B s 1 KERAILAF 60 62 122
117 % B8 2 FHEEERY 62 63 125
118 w5 R 2 HBKRF 63 67 130
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